
 

Call us: 9100433442 | 9100433445                                                        www.excelacademy.com 
 

     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                    Date: 19-03-2022 

 

1. Consider following statements about National Health Authority (NHA) 

1) It is responsible for public health insurance scheme Ayushman Bharat PradhanMantri Jan 

Arogya Yojana (AB-PMJAY). 

2) It works under the organizational control of Ministry of Health and Family Welfare 

Which of the above statement(s) is / are correct? 

a) 1 only                         b) 2 only                             c) Both 1 and 2                          d) Neither 1 nor 2 

 

2. Consider the following statements: 

1) The Bunker Convention is associated with oil pollution damage. 

2) India is yet to ratify the Bunker Convention. 

3) The Bunker Convention is administered by the International Maritime Organisation (IMO). 

Which of the following statement(s) is/are correct? 

a) 1 and 3 only                       b) 2 and 3 only                     c) 1 and 2 Only            d) All of the above 

 

3. One of the important goals of the economic liberalisation policy is to achieve full convertibility of the 

Indian rupee. This is being advocated because:  

a) Convertibility of the rupee will stabilize its exchange value against major currencies of the world  

b) It will attract more foreign capital inflow in India  

c) It will help to promote exports  

d) It will help India secure loans from the world financial markets at attractive terms 

 

4. Which of the following are the objectives of the Commission for Agricultural Costs and Prices 

(CACP) ? 

1) To stabilise agricultural prices. 

2) To ensure meaningful real income levels to the farmers. 

3) To protect the interest of the consumers by providing essential agricultural commodities at 

reasonable rates through public distribution system. 

4) To ensure maximum price for the farmer. 

 Select the correct answer from the codes given below  

a) 1, 2 and 3                           b) 1, 2 and 4                          c) 1, 3 and 4                       d) 2, 3 and 4 

 



 

Call us: 9100433442 | 9100433445                                                        www.excelacademy.com 
 

 

5. With reference to Organisation of the Islamic Conference (OIC), consider following statements 

1) OIC is the second largest intergovernmental organisation after the United Nations with a 

membership of 57 states 

2) India despite being home to world’s second largest Muslim community, is not a member of OIC 

   Which of the above statement(s) is / are correct? 

a) 1 only                            b) 2 only                       c) Both 1 and 2                     d) Neither 1 nor 2 

 

6. The trade parity price, that sometimes appears in news is used to 

a) Determine trade exchange between two countries 

b) Determine price levels between two countries 

c) Measure price of fuel in India 

d) Grade crude oil 

 

7. Consider the following statements about the Renewable Energy Certificate (REC) mechanism: 

1) It is a market based instrument to promote renewable energy and facilitate compliance of 

renewable purchase obligations. 

2) One Renewable Energy Certificate (REC) is treated as equivalent to one ton of carbon dioxide. 

  Which of the above statement(s) is / are correct? 

a) 1 only                          b) 2 only                          c) Both 1 and 2                      d) Neither 1 nor 2 

 

8. The “Operation ganga”, that sometimes appears in news deals with 

a) Effective abatement of pollution, conservation and rejuvenation of National River Ganga 

b) Evacuating stranded Indians from Ukraine 

c) Provision of free education to girl child 

d) Supplying water to Maldives. 

 

9. Which of the following statements about the Mid Day Meal scheme are correct? 

1) It gets its legal backing from the National Food Security Act, 2013 

2) The scheme is implemented in all of the states following the orders of the Supreme Court of India 

in 2001 

  Which of the above statement(s) is / are correct? 

a) 1 only                         b) 2 only                    c) Both 1 and 2                      d) Neither 1 nor 2 

 

10. Which of the statement(s) given above is/are correct? 
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1) War crimes are defined under the 1949 Geneva Conventions. 

2) War crimes carry an individual liability. 

3) Currently, there is no provision in Indian laws which define ‘genocide’  

Choose the correct answer using the code given below: 

a) 1 and 2 only                      b) 2 and 3 only                        c) 1 only                          d) 1, 2 and 3 


